
DAILY BASIS ASSIGNMENT 

          DAY: FRIDAY                CLASS: V                    DATE:01.05.2020  

         

  SUBJECT: ENGLISH 

 

I.  The following questions are related to punctuation. Tick the correct option in the 

given sentences. 

1. Which of these is not a punctuation mark? 

a. Full stop 

b. Comma 

c. Colon 

d. Hashtag 

2. Choose the correct statement: 

a. My aunt who lives in Mumbai is a doctor. 

b. My aunt, who lives in Mumbai, is a doctor. 

c. My aunt, who lives in Mumbai is a doctor. 

d. My aunt who lives in Mumbai, is a doctor. 

3. Choose the correct statement: 

a. I met a beautiful, European woman. 

b. I met a beautiful European woman. 

c. I met a beautiful European, women. 

d. I met a beautiful, European, women. 

4. Which of these is used to convey proportion? 

a. Semicolon 

b. Colon 

c. Comma 

d. Hyphen 

5. Who do you think will win the contest ___ 

a. . 

b. ! 

c. ? 

d. , 

 

SUBJECT: EVS 

 

I. CHOOSE THE CORRECT OPTION: 

1. A seed contains 

a) baby plant             b) seed leaves                 c) seed coat                  d) all of them  



2. A tough covering of seed is called 

a) cotyledons             b) seed coat                 c) seed leaves                     d) embryo 

3. Which part appears first 

a) root                         b) leaf                          c) shoot                            d) all of them 

4. Potato and ginger are under ground 

a) root                          b) leaf                        c) seed                             d) stem 

5. Potato has small buds on it called 

a) root                          b) eyes                       c) leaves                          d) stem           

 

SUBJECT: MATHS 

 

I. Choose the correct answer. 

1. 9466213 - 3312366 = ..................... 

a) 6153874         b) 6153847         c) 6513847          d) 5163847 

2. The difference of 8768246 and 2314632 is  

a) 6453614       b) 6453615      c) 6543615          d) 6456314 

3. What must be added to 32,46,924 to get 50,00,000? 

a) 17,53,076        b) 17,53,760     c) 17,53,067     d) 17,53,367  

4. What must be subtracted from 10,00,000 to get 5,49,321? 

a) 540679           b) 456079          c) 450679         d) 540976 

5. How much is 59,60,750 less than 84,73,243. 

a) 52,12,493    b) 52,21,493      c) 25,12,943         d) 25,12,493 

 

SUBJECT: COMPUTER 

 

I. Choose the best options from those given below: 

i) The component of a computer system that doesn’t have physical shape 

a) Hardware  (b) Software       (c) Storage device         (d) Both (a) and (b)  

ii) Example of Application Software 

(a) DOS  (b) Windows        (c) MS Paint                 (d) Unix 



 

iii) Those actions/operations that a computer performs is called 

(a)  Processing  (b) Analyze            (c) Calculation          (d) Browsing 

iv) Components of a computer system is/are 

(a) Hardware  (b) Software        (c) Both (a) and (b)        (d) Network 

v) Firmware is a combination of 

(a) Hardware  (b) Software           (c) Both (a) and (b)        (d) Storage device 

 

 

विषय – संस्कृत      
 
सही विकल्प चुनकर उत्तर दें –  
 
प्रश्न 1. ‘ काक: ’ का द्वििचन में होगा – 
  
(क) काके    (ख) काकौ   (ग) काका :  ( घ ) काकेन  
 
प्रश्न 2.’ अनेक बंदर ’ का संस्कृत _____________ होगा ।  
 

(क) िानरौ    (ख) िानरे  (ग) िानरा :  ( घ ) िानर : 
  
प्रश्न 3. ‘ गजौ ’ का अर्थ हैं -  
 

(क) दो हार्ी    (ख) एक हार्ी  ( ग ) तीन हार्ी   ( घ ) बहुत से हार्ी  
 
प्रश्न 4. ‘ अश्िा : ’ का अर्थ हैं ? 
 
(क) एक घोड़ा    (ख) बहुत से घोड़े  (ग) दो घोड़ा  ( घ ) तीन घोड़ा 
 
प्रश्न 5. ‘ कपोत : ’ का अर्थ हैं ? 
 

(क) बहुत से कबूतर    (ख) दो कबूतर  ( ग ) एक कबूतर   ( घ ) तीन कबूतर  
 
                                

   ह दंी असाइनमेंट 

 

नीचे ददए बहुविकल्पीय प्रश्नों के सही उत्तर चुनकर लिखे । 



प्रश्न 1) सही िाक्य छााँट कर लिखे । 

क) रामा गई बाजार आज । 

ख) गई आज बाजार रमा । 

ग) आज रमा बाजार गई । 

घ) बाजार गई आज रमा । 

प्रश्न 2) ककन िर्णों के उच्चारर्ण में ‘ अ ‘ की सहायता िेनी पड़ती है ? 

क) स्िर          ख) व्यंजन           ग) िर्णथ            घ) शब्द 

प्रश्न 3) िर्णों को अिग - अिग करना क्या कहिाता है ? 

क) िर्णथमािा           ख) िर्णथ -  विच्छेद            ग) िर्णथ – समूह            घ) िर्णथ – संधि 

प्रश्न 4) स्िर िर्णथ ककतने प्रकार के होते हैं ? 

क) दो            ख) तीन              ग) चार               घ) एक 

प्रश्न 5) ‘िस्तु’ का बहुिचन क्या होगा ? 

क) िस्तुएाँ             ख) िस्तुओं          ग) िास्तु         घ) िस्तुएं 

  

                       ************************************* 
 
 

 

 

 

 


